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Corrigé de l’exercice 1

Compléter :

◮1.
34 480

100
= 344,8

◮2.
36 390

10 000
= 3,639

◮3.
1 404

10
= 140,4

◮4.
39 590

1 000
= 39,59

◮5.
4 988

1 000
= 4,988

◮6.
35 400

10 000
= 3,54

Corrigé de l’exercice 2

Compléter :

◮1.
83 040

100
= 830,4

◮2.
6 322

1 000
= 6,322

◮3.
7 198

10
= 719,8

◮4.
78 870

10 000
= 7,887

◮5.
1 129

100
= 11,29

◮6.
1 449

100
= 14,49

Corrigé de l’exercice 3

Compléter :

◮1.
3 101

10
= 310,1

◮2.
59 050

1 000
= 59,05

◮3.
6 550

100
= 65,5

◮4.
5 823

100
= 58,23

◮5.
44 610

1 000
= 44,61

◮6.
212

1 000
= 0,212

Corrigé de l’exercice 4

Compléter :

◮1.
11 020

1 000
= 11,02

◮2.
80 390

10 000
= 8,039

◮3.
61

10
= 6,1

◮4.
38 410

10 000
= 3,841

◮5.
5 682

100
= 56,82

◮6.
233

1 000
= 0,233

Corrigé de l’exercice 5

Compléter :

◮1.
2 987

1 000
= 2,987

◮2.
8 149

100
= 81,49

◮3.
78 850

10 000
= 7,885

◮4.
95 010

100
= 950,1

◮5.
88 070

100
= 880,7

◮6.
1 284

1 000
= 1,284

Corrigé de l’exercice 6

Compléter :

◮1.
2 603

100
= 26,03

◮2.
6 375

10
= 637,5

◮3.
95 600

100
= 956

◮4.
36 360

1 000
= 36,36

◮5.
14 330

10 000
= 1,433

◮6.
9 487

10
= 948,7
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